Here we are given that the source current is 6 mA and the source voltage is 6V.
We are given two current relationships.

The ratio of v4 and v3’s voltages is 2:1.

We want to specify the resistors’ values to meet these specifications.

We know the total current through all parallel branches is is.

According to Kirchhoff’s Current law, the sum of the currents entering the node equals the sum leaving the node.

This means that is is entering current.

The leaving currents are i1 + i2 + i3.

From the given information, i1 = 3/2 * i2.

And the third given tells us that i3 = 0.5 * i2.

Substitute Equations (2) and (3) into Equation (1) and solve for i2.

[math calculations]

This gives i2 = 2 mA.

We can solve for i1 using Equation (2).

This gives i1 = 3 mA.

We also know that i3 = ½ of i2 = 1 mA.

Using Ohm’s law, solve for the resistance values.

R1’s resistance is the voltage across it by the current through it.

This gives R1 = 2 kΩ because V/mA = kΩ.

R2’s value is 3 kΩ.

For v3 and v4, we know the total voltage across the two is v4 + v3.

From the given equation, we know that v4 = 2*v3 because their ratio is 2:1.

Set our equation equal to 6 V.

So v3 should be 6/3 = 2 V.

This means that v4 = vs – v3 = 6-2 = 4V.

We can use Ohm’s law again to find the resistances for R3 and R4.

R3 will be its voltage divided by its current.

This gives 2 kΩ.

R4 is its voltage divided by its current.

This gives 4 kΩ.

We have solved the problem completely by this point.

We can verify the results using current or voltage division.
R4 is in series with R3, so we can consider this setup a voltage divider.

V3 should be the source voltage times the resistance of interest divided by the total resistance.

This gives v3 = 2V.

V4 should be the total voltage multiplied by R4, divided by the total resistance.

This gives 4 V.

So the ratio of v4 to v3 is 4:2 = 2:1. This is consistent with the specs given in this problem.

We can also verify the result based on current division.

We have three parallel branches.

R3 and R4 can be combined to a single equivalent resistance by adding their values. This gives 6 kΩ.

Now we have three resistors are in parallel.

We can use a current divider to verify that.

The total current is divided among the three resistors.

To solve the proportionality, we need to find the equivalent resistance of the three branches.

Do this by taking the adding together reciprocals of each resistance and taking the reciprocal of the sum.

So i1 is the total current of all the branches multiplied by the equivalent resistance divided by R1.

This gives 3 mA.
Similarly, based on the current division circuit, i2 is 6* 1/3 = 2 mA.

We can solve i3 in the same way to find i3 = 1 mA.

Note that i2 = 2*i3, so the specification has been satisfied.
